Math for Today Journal
Week 21
NO.2.3.3; A.5.3.2; G.9.3.2; M.13.3.6; DAP.17.3.2

	Nathan has 4 packs of Pokemon cards. Each pack has 8 cards. How many cards does he have in all?  Write a multiplication equation and solve.
	Which of the following number sentences is

true?

A. 59 > 590
B. 103 < 130
C. 2,010 < 2,011
D. 529 > 592
	Draw an example of a slide for the figure below.


	Tyler bought a large coke for $2.50 and a large pixie stick for $1.25. He gave the cashier $5.00 How much change did he

receive?

	A bag contains 4 red balls, 3 green balls and a blue ball. If a ball is chosen at random from the bag, what would be an impossible event?
	Trenea gave 3 stickers to each of her 8 friends? How many stickers did she give to her friends? Write a multiplication equation and solve.


	Complete the inequality to make it true.
4,056 > 
	Draw an example of a flip for the figure below.



	Jagger goes to the movie. The movie costs $8.50. If he gives the cashier $10.00, will he have enough left to buy a soda for $2.50? Prove your answer.

	A spinner has 5 equal sectors colored pink, black, lilac, burgundy and green. If Kayla spins the spinner, then what would be a possible event?
	Thomas earns $3.00 per hour working. If he works for 2 hours, how much money will Thomas earn?
	Use the appropriate symbol to make this true.

  351         351

	Draw an example of a turn for the figure below.
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	Draw.

   K

   
	Ms. Rolly buys a bag of chips and a canned soda for $3.25. If she paid using the fewest number of bills and coins, what would she use to pay the clerk?
	A 6-sided die is rolled. Which of the following is a possible event?

A. [image: image2.wmf]rolling any number from 1 to 6
B. [image: image3.wmf] rolling 7
C. [image: image4.wmf] rolling any number less than 8
D. [image: image5.wmf] rolling any number more than 7
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